1.  A student holds a lens.  He examines a flower up close and notices that the image is upright and smaller.  He views his dog a few feet away and notices that the image is smaller and upright.  He views a distant tree and notices that the image is upright and smaller.  Based on his observations the student concludes:

Student:  “The lens is a concave lens.  It seems to always form a smaller, upright image.”

a)  What if anything is wrong with the student’s statement?

b)  If it is wrong, explain why it is wrong.  If it is correct, explain why it is correct?

2.  The following image is formed by a convex lens.
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a)  Where is the object located?

b)  Explain your reasoning.
3.  A student views the image of a light source through a lens.  She notices that the image is upright and larger than the object.  She makes the following statement.

Student:  “I am viewing a virtual image since I have to look through the lens to see and since it is upright.  The lens must be a concave lens since concave lenses always make virtual images.”

a)  What if anything is wrong with the student’s statement?

b)  If it is correct, state why it is correct.  If it is wrong, what is wrong with the student’s statement?
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